Subject: Re: unit of measurement
Posted by Bridgette-DHS on Fri, 29 Jul 2016 17:57:37 GMT

View Forum Message <> Reply to Message

Following is a response from Senior DHS Stata Specialist, Tom Pullum:

BMI is measured in units of kilograms divided by (meters squared). For example, if someone is 2
meters tall (6 ft. 6.74 inches) and weighs 100 kg (220.462 pounds) then their BMI is 100/(2
squared) = 100/4=25. See http://www.nhlbi.nih.gov/health/educational/lose_wt/BMI/bmic alc.htm,
for example.

Page 1 of 1 ---- Generated from The DHS Program User Forum


https://userforum.dhsprogram.com/index.php?t=usrinfo&id=11
https://userforum.dhsprogram.com/index.php?t=rview&th=5395&goto=10492#msg_10492
https://userforum.dhsprogram.com/index.php?t=post&reply_to=10492
https://userforum.dhsprogram.com/index.php

